Algebra2  Bellwork  Thursday, December 10, 2015

14. If f(x) = 22 + 2, which of the following could be a value of

Sfix)?

A -2
(B) -1
© o
O 1
B 2

16. If the perimeter of rectangle ABCD is equal to p, and

2 : :
x= 3 ¥, what is the value of y in terms of p ?

(A) 195 B y c

B -

©F =

O —

® -

17. A basketball teant had a ratio of wins to losses of 3:1
After the team won six games in a row, its ratio of wins
losses became 5:1. How many games had the team won
before winning six games in a row?

Ay 3
B 6
© 9
®)y 15
E 24
Q - R
a
bo
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A) 90+x
B) 90-x
(C) 180+x
D) 270-x
E) 360-x
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